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1 ®EH & 16 ' 4 X T 4201 1 Tsskskskoksorsk | 384 400
2 A i & 16 ' 4 X R 4201 1 ssksksksskskd 045 400
3 W TR & 7 A X T4 42011 1 %skkskskrskxk5029 400
4 WA T & 46 4 X B4 4 4201025k %5x5%282X 400
5 WA TR & 0 [ A X Z 3 42011 1 %ksrseskx402 1 400
6 W TR & 7 A X EXr 42011 1 %sksksksskx ] 360 400
7 WA T & 8 [ A X B 4203025k 55x5%0329 400
8 WA T & 46 4 X WEx 420106%*5ks535%402 | 400
9 ®EH & 16 ' 4 X =85 4201 06%skskkkssksk 228 400
10 BEE T & A6 [l 4 X wr e 420106%skskskoksrckx(426 400
11 A i & 16 [ 4 X P 420802% Kk k3k%396X 400
12 ®EH & 16 ' 4 X ¥ 420106%*kkkk5%1647 400
13 A i & 16 ' 4 X FAiEY 4201 06%skskkksskk4455 400
14 ®EH & 16 [ 4 X INEA 4201 1 sskskskksskskd 012 400
15 ¥ & E 4 X 2 HE 42128 3kskokkrokk0548 400
16 WA TR & 7 A X KR 42011 1 %skkoksknrsx 7018 400
17 WA TR & 7 [ A X &k 420106 %5k kx5 %84 1 2 400
18 WA TR & 7 A X EEE 42011 1 %skkskskrskx (0557 400
19 £ J] R PN =P & A 42011 1 %skkokstorsxd 713 400
20 £ J] R PN =P JiF:a 42011 1 %skkskskskx5609 400
21 2R KAHRK PR B 3 41132 2s%skskkk35k5%0349 400
22 2R PN ¥ IF 420106%#kkxkk%4442 400
23 ] R KR = 8 42011 Tskokskoksiokk 3522 400
24 "2 7 KX Feeik 42011 1skskskkrserxd 100 400
25 2R KAHRK A 4B 411024%skskk k356520 400
26 2R KAHRK I i AE 4201 1 Tskskskokokssksk ] 312 400
27 £ J] R PN =P B 4 420106%kkkkx5%4458 400
28 £ J] R PN =P e B 4209825k kx5 %67 7S 400
29 & J] R XX HRAR 422325k kkk%k252X 400
30 £ J] R PN =P x| & 42011 1 %k %0526 400
31 & J] R XX EAE 421002%k5k535%0024 400
32 £ J] R PN =P 5 3 420106%*5ksk5x5k %8444 400
33 2R KK 1% 42070 4%k%%%k5% 1614 400
34 2R KAHRK 35} 4201 1 sskskoksskskd 023 400
35 2R KRAHRK B o 4201 1 5skskkoksksk 2830 400




